Xtracycle FlightDeck LT2
Installation Guide

The FlightDeck LT2 is Xtracycle’s newest and lightest deck. Made from glass reinforced plastic and bolted
securely into the vertical racks, the FlightDeck is a strong platform for all your carrying needs.
Compatibility:

LT2 only - Requires LT2 V-Racks, RackLocks.

Tools Required:
Metric hex wrench, 3mm

Parts Included:

4 M5x.8x35mm Button Head Bolts
4 M5x.8x15mm Button Head Bolts
8 small washers

4 thick washers

4 M5x.8mm Nyloc nuts

Note: The following instructions are for installation
of the FlightDeck by itself, without a Hooptie LT2 or
Yepp Seat Adapters.

If you are installing a Hooptie or Yepp Seat
Adapter, some of the bolts provided may be
replaced by those provided with those accessories.
Always use the bolts suitable for the accessories to
ensure compatibility, and refer to the instructions
provided with each accessory for assembly details.
Save the bolts from the deck in case you need to
secure it after removing your accessories.

Note: To install a Yepp Seat Adapter, the
appropriate port will need to be cut out of the deck.
Using a sharp knife or a rotary tool, cut along the
rectangular path to remove the blanking plate from
the port. Use appropriate personal protection
equipment for the tools and material. The edges
may be rough, dress them with 100 grit sand paper,
or cover the cut edges with GorillaTape.




Installation:

Before installing the FlightDeck, verify
that the vertical racks are fully installed
on the bike and secured with
RackLocks.

Note: It is also easier to install the
CarryAll bags before installing the deck.

Place the FlightDeck on top of the
V-racks with the logo side up and the
wide end facing forwards.

e Line the 8 mounting holes on
the FlightDeck with their
corresponding mounting points
on the V-Racks.

The holes at either end of the deck use
the longer M5x35mm bolts.

e Insert one of the 35mm bolts
into each hole with one small
washer and one thick washer as
shown.

e Thread a M5 Nyloc nut onto
each bolt.

Note: No washer is needed under the
nut; it will be captured by the notch in
the underside of the block, and a
washer will interfere with that fit.

Bolt Head
/ Small washer

“"-. Thick Washer

- ——0 M5 Nyloc Nut

Thread the shorter 15mm bolts into the
V-Rack bosses under the middle
mounting holes.
e Use a small washer under the
head of each bolt.




Once all bolts are installed, tighten the
bolts to 3-4Nm.

WARNING: Never transport passengers without foot and hand protection in place, i.e. Yepp
Seats/U-Tubes and CarryAll bags. Check that all fasteners are secure before riding the bike.
Obey all posted weight limits. Failure to properly secure passenger and cargo carrying
accessories may result in serious injury or death.

View the Xtracycle Owner’s Manual at xtracycle.com/support for additional safety guidelines
when riding with passengers or cargo.

Warranty

FlightDecks are guaranteed to be free from manufacturing defects for one (1) year from the
original date of purchase. This warranty applies only to the original buyer and is not
transferable. This warranty does not cover damage from use of this product outside of its
intended range or that resulting from modification or neglect. It also does not cover wear and
tear resulting from the normal use of the product. Please contact your Xtracycle dealer if you
believe you have a warranty claim.



